EA ﬁ@N Baron Fiberglass Fenders

Clistorm Accessoriss
“HoriT = Bexl Criricer Porre”™ we !

. Y
= _.___._____...-"/
_— —— —

Revision: 1.2 - 07/27/2010

/ BA-921702-04 Page: 1

INCLUDED IN THEKIT:

(2) 6/32" x 3/4" Button Head Phyllips Screw (4) M6 Nylock Nut
(2) 6/32" Flat Washer (8) M8-1.25 Serrated Flange Nut
(2) 6/32" Well Nut (1) Rear Gangster Fender Kawasaki VN2000

(4) M6 Fender Washer

INSTRUCTIONS:

Hints, tipsand precautions on installation and use of Baron Fiberglass Fenders.

Pre-fit all fenders BEFORE you paint them.

Fenderscan be trimmed/cut with a cutoff tool or dremel.

Check clearance on lowered rear suspensionswith the rear fully collapsed.

Check front fender for corner clearance, forward control clearance, tool bag clearance.

e Check rear caliper for clearance (rear caliper can berelocated on some models).

e Check tireclearance.

e Areyou frenching-in lightsor license? Check the clearance.

e Drill any holesyou need for seat mounting, pillion brackets, luggage mounting, light mounting, fender
trim, rear racks, license mounting, etc. prior to painting.

e Sand gel coat with 320 grit and prime.

e Finish sand primer with 400 wet/dry paper and apply base coat.

Pre mount fender beforeyou paint!

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2024 Bar ons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



